Make: Subaru

Model: 2005-2009 Outback
oIE ; Application: Rally Light Bar
SUBSIDIARY OF PENTECH AUTOMOTIVE '
PACKAGE CONTENTS TOOLS
Qry Qry
1 Rally Light Bar 8 | 3/8”-16 Nut .
1 | Mounting Bracket 2 | 3/87-16 x 1” Hex Bolt Flathead Screwdriver
2 | L-Bracket 2 | 1/4” x 1" Lag Screw 9/16” Socket of Wrench
2 | 3/8” Bolt Plate 2 | 1/4” USS Washer 7/16” Socket or Wrench
4 | 3/8”-16x2" Hex Bolt Sharp Cutting Tool
14 | 3/8” SAE Flat Washer
8 3/8” Lock Washer

INSTALLATION INSTRUCTIONS

Remove the plastic splash guard. Attach Mounting Bracket to the Bolt Plates. Fasten with (1) 3/8”" Flat

Insert (2) 3/8” Bolt Plates into the slotted holes shown above. Washer, (1) Lock Washer, and (1) Hex Nut per side. Note the
orientation of the Mounting Bracket with the ends pointing
forward.
1 2

Attach the Light Bar to the Mounting Bracket using (2) 3/8"x 2" Additional view from Step 3. Note there are also washers on the
Hex Bolt, (4) Flat Washers, (2) Lock Washer, and (2) Hex Nut per other side of the bracket.
side.
3 4

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold

as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system

(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech

Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over. Rev. 10/20



For 08-09 Outback flip
L-brackets around, like
shown >>
08-09 Outback
l“-"\
05-07Outbackj A
Install L-bracket as shown, with the slotted side mounted on the Overall view after light bar has been installed. Tighten all
bumper. Top hole - use (1) 3/8"-16x1 Hex Bolt, (2) 3/8"Washers, (1) hardware. 08-09 Outback shown.
3/8" Lock Washer, and (1) 3/8"-16 Hex Nut. Slotted hole - Use 1/4”x
1”Lag Screw and 1/4” USS Washer to mount into the bumper.
5 6
To use splash guard, cut the area around the tape shown to have To use splash guard, cut the area around the tape shown to have
clearance of the mounting hardware. clearance of the mounting hardware. Repeat trimming on
(2005-2007 2.5 non-turbo shown). passenger side splash guard.
(2008-2009 2.5i PZEV non-turbo shown).
7 8
Finished install of the light bar. Baja Designs XL-R lights are shown. Finished install of the light bar. Baja Designs XL-R lights are shown.
05-07 Outback shown. 08-09 Outback shown.
9 10

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Rev. 10/20



